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FED 3 64 7,559 1,086 14.4 1
SkFH 132 182 A 50 A5
T 1,326 3,729 597 16.0 3
niET 5794 1,879 915 18.8 2
SEWLT 336 397 A6 A 154
REZT 1,532 1317 215 16.3 9
N 3,399 3311 38 2.7 5
HET 1. 404 970 134 14,7 10
BET 698 502 196 39.0
AT 1,030 1,009 21 21
AT 789 946 | A 157 A 16.6
=am 315 335 A20  AG60
1B 282 305 A2  ATlS
ZEHm 1,103 1,083 20 1.8
i 3,522 3,168 354 1.2 7
e 1 58 A1l 423
R 1545 1825 | A 280 A 15.3 3
FILh 1,970 2253 | A 283 A 12.6 7
TR | 2 386 2, 342 1 19 6
BRI 021 812 109 13.4
BN 149 115 3 29.6
W am 824 657 167 2.4
BED 485 11 64 15.2
=Em 201 265 A6l A 2470
BRm 1,090 1143 A53 446
mEE T 622 729 | A 107 4 147
PRy 496 790 | A 294 4 37.2
& 628 214 414 193.5
ME 844 1319 | A 455 A 36.0
T 163 214 A5 A28
=Em 242 342 | A 100 A 29.2
AERT 133 153 A 20 A 131
M 115 102 3 12.7
e 351 230 121 52.6
L 128 141 A3 A92
NEHH 134 125 9 7.2
XEEET 193 235 A1 AL9
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3 7 HERT 136 115 21 18.3
FHT 82 100 A 18 A 18.0
24 15 BT 41 15 26 173.3
2 BT 36 43 A ] A 16.3
B EMT 28 36 A8 A 222
A+ ERT 36 30 6 20.0
= LIBT 34 26 8 30.8
FEE LT 82 87 A S A 5]
— = W7 155 162 A ] A 4.3
B SR AT 20 17 3 17.6
E4H ol 14 A 1] A 23.0
A FHT 16 38 A 2?2 A 5].9
EHGET 15 9 6 66. 7
KR 12 11 1 9.1
KZ=HT 10 12 A2 A 16.7
L 36 44 A8 A 18.2
SETHT 36 46 A 10 A 21.7
EpET 46, 968 44,171 2, 791 6.3
FBERET 832 865 A 33 A 3.8
& &t 47,800 45, 042 2,758 6.1
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